Office of Superintendent of Schools Board Meeting of July 14, 1999

July 8, 1999

Financial Affairs Richard H. Hinds, Chief Financial Officer

SUBJECT: AWARD OF BID #273-XX05 - CIRCUIT BREAKERS

The purpose of this bid, opened on June 22, 1999, is to establish a contract, to purchase, at firm unit prices, quantities, as may be required, of circuit breakers, for Maintenance Materials Management stock. This is a term bid which states that the Board may purchase quantities, as may be required, at the unit price bid, but is not obligated to purchase any guaranteed amount. Of 33 vendors sent bid forms or card notices of this advertised bid, 13 responded, with 11 bids meeting specifications (not all vendors bid all items), 1 non-responsive bid (no original signature) and 1 no bid.

Fund Source 0100-General

M/WBE Eligibility
African American Male - \$31,588.97

RECOMMENDED:

That The School Board of Miami-Dade County, Florida, AWARD Bid #273-XX05 – CIRCUIT BREAKERS, to purchase, at firm unit prices, quantities, as may be required, of circuit breakers, for Maintenance Materials Management stock, during the term of the bid, effective July 14, 1999, through August 31, 2000, as follows:

PRIMARY

RAY'S ELECTRICAL SUPPLIES, INC.
 2023 OPA-LOCKA BOULEVARD
 OPA-LOCKA, FLORIDA 33054 ESTIMATE \$31,588.97
 OWNER: VALTY RAYMORE, PRESIDENT (AM)

Total Low Unit Price: All Items.

Group I - Items 1 through 7 - ITE Circuit Breakers.

Item 1 - 20 AMP, 1 pole, @ \$9.68 Each. 120/240 volts, bolt on

ltem 2 - 20 AMP, 2 pole, @ \$20.95 Each. 120/240 volts, bolt on

REPLACEMENT

Page 1 of 6

G-86

Item	3 -	Pole, 120/240 volts, bolt on	@	\$20.95	Each.
Item	4 -	50 AMP, 2 pole, 120/240 volts, bolt on	@	\$20.95	Each.
İtem	5 -	60 AMP, 2 pole, 120/240 volts, bolt on	@	\$20.95	Each.
Item	6 -	20 AMP, 1 pole, 120 volts, snap-in	@	\$3.20	Each.
ltem	7 -	40 AMP, 2 pole, 120/240 volts, bolt on	@	\$20.95	Each.

Group II - Items 8 through 17 - G.E. Circuit Breakers.

Item	8	-	20 AMP, 1 pole,	@	\$7.90	Each.
14	^		120/240 volts, bolt on	_		
ltem	9	-	20 AMP, 2 pole,	@	\$17.70	Each.
Item	10	_	120/240 volts, bolt on 30 AMP, 1 pole,	@	47.00	- ,
110111	10	_	120/240 volts, bolt on	യ	\$7.90	Each.
ltem	11	_	40 AMP, 2 pole,	ര	\$17.70	Each.
			120/240 volts, bolt on	٣	¥17.70	Lacii.
ltem	12	-	50 AMP, 2 pole,	@	\$17.70	Each.
			120/240 volts, bolt on	_		
Item	13	-	60 AMP, 2 pole,	@	\$17.70	Each.
			120/240 volts, bolt on			
Item	14	-	20 AMP, 1 pole, 120	@	\$3.55	Each.
14	4 -		volts, snap-in	_	_	
Item	15	-	30 AMP, 2 pole,	@	\$17.70	Each.
Item	16		120/240 volts, bolt on	\sim		
itein	10	-	30 AMP, 2 pole,	യ	\$8.15	Each.
Item	17	_	120/240 volts, snap-in 40 AMP, 2 pole,	ക	\$8.15	Cash
	' '		120/240 volts, snap-in	w	40.10	Each.

Group III – Items 18 through 25 – Westinghouse Circuit Breakers.

Item 18 - 20 AMP, 1 pole, @ \$12.05 Each. 120/240 volts, snap-in

ltem	19	-	20 AMP, 1 pole,	@	\$8.47	Each.
14	00		120/240 bolts, bolt on	_		
item	20	-	20 AMP, 2 pole,	@	\$18.48	Each.
l 4	0.1		120/240 volts, bolt on	_		
item	21	-	30 AMP, 2 pole,	@	\$18.48	Each.
			120/240 volts, bolt on			
ltem	22	-	40 AMP, 2 pole,	@	\$27.50	Each.
			120/240 volts, snap-in			
item	23	-	40 AMP, 2 pole,	@	\$18.48	Each.
			120/240 volts, bolt on			
Item	24	-	50 AMP, 2 pole,	@	\$18.48	Each.
			120/240 volts, bolt on			
ltem	25	-	60 AMP, 2 pole,	@	\$18.48	Each.
			120/240 volts, bolt on	_		

Group IV – Items 26 through 37 – Square D Circuit Breakers.

item	26	-	30 AMP, 2 pole, 120/240 volts, snap-in	@	\$11.80	Each.
Item	27	-	20 AMP, 1 pole, 120 volt, snap-in	@	\$5.15	Each.
Item	28	-	40 AMP, 2 pole, 120/240 volts, snap-in	@	\$11.80	Each.
Item	29	-	40 AMP, 2 pole, 120/240 volts, bolt on	@	\$20.90	Each.
Item	30	-	20 AMP, 1 pole, 120 volts, bolt on	@	\$9.40	Each.
Item	31	-	30 AMP, 1 pole, 120 volts, bolt on	@	\$9.40	Each.
Item	32	-	20 AMP, 2 pole, 120/240 volts, bolt on	@	\$20.40	Each.
Item	33	-	30 AMP, 2 pole, 120/240 volts, bolt on	@	\$20.90	Each.
Item	34	-	50 AMP, 2 pole, 120/240 volts, bolt on	@	\$20.90	Each.
Item	35	-	60 AMP, 2 pole, 120/240 volts, bolt on	@	\$20.90	Each.
Item	36	-	70 AMP, 2 pole, 120/240 volts, bolt on	@	\$34.92	Each.

Item 37 - 100 AMP, 2 pole, bolt @ \$46 Each.

SECONDARY

 REXEL/CONSOLIDATED ELECTRIC SUPPLY 5701 N.W. 35 AVENUE MIAMI, FLORIDA 33142 OWNER: JOHN BURKE, PRESIDENT

Second Total Low Unit Price: Group I.

Group I - Items 1 through 7 - ITE Circuit Breakers.

ltem	1	 20 AMP, 1 pole, 	@ \$10	0.76 Each.	
		120/240 volts, bolt on			
Item	2	 20 AMP, 2 pole, 	@ \$24	4.58 Each.	
		120/240 volts, bolt on			
ltem	3	 30 AMP, 2 pole, 	@ \$24	4.58 Each.	
		120/240 volts, bolt on			
ltem	4	 50 AMP, 2 pole, 	@ \$24	4.58 Each.	
		120/240 volts, bolt on			
ltem	5	 60 AMP, 2 pole, 	@ \$24	4.58 Each.	
		120/240 volts, bolt on			
ltem	6	 20 AMP, 1 pole, 120 	@ \$3.	13 Each.	
		volts, snap-in			
ltem	7	 40 AMP, 2 pole, 	@ \$24	4.58 Each.	
		120/240 volts, bolt on			

SECONDARY

3. CONSOLIDATED ELECTRICAL DISTRIBUTORS, INC. D/B/A RAYBRO ELECTRIC SUPPLY 3590 N.W. 34 STREET MIAMI, FLORIDA 33142 OWNER: KEITH COLBURN

Second Total Low Unit Price: Group II and Group IV.

Group II - Items 8 through 17 - G.E. Circuit Breakers.

Item	8	-	20 AMP, 1 pole,	@	\$7.25	Each.
	_		120/240 volts, bolt on			
ltem	9	-	20 AMP, 2 pole,	@	\$16.05	Each.
			120/240 volts, bolt on			
ltem	10	-	30 AMP, 1 pole,	@	\$7.25	Each.
			120/240 volts, bolt on			
Item	11	-	40 AMP, 2 pole,	@	\$16.05	Each.
			120/240 volts, bolt on			
Item	12	-	50 AMP, 2 pole,	@	\$16.05	Each.
			120/240 volts, bolt on			
Item	13	-	60 AMP, 2 pole,	@	\$16.05	Each.
			120/240 volts, bolt on			
ltem	14	-	20 AMP, 1 pole, 120	@	\$4.60	Each.
			volts, snap-in			
ltem	15	-	30 AMP, 2 pole,	@	\$16.05	Each.
			120/240 volts, bolt on	_		
ltem	16	-	30 AMP, 2 pole,	@	\$10.25	Each.
			120/240 volts, snap-in	_		
ltem	17	-	40 AMP, 2 pole,	@	\$10.25	Each.
Item	17	-	40 AMP, 2 pole, 120/240 volts, snap-in	@	\$10.25	Each.
Item	17	-	7 - polo,	@	\$10.25	Each.
			7 - polo,			
Group	IV –	· Ito	120/240 volts, snap-in	e D (Circuit Br	eakers.
		· Ito	120/240 volts, snap-in ems 26 through 37 - Square 30 AMP, 2 pole,	e D (eakers.
Group Item	IV - 26	· Ite	120/240 volts, snap-in ems 26 through 37 – Square 30 AMP, 2 pole, 120/240 volts, snap-in	D (Circuit Br \$16.55	eakers. Each.
Group	IV - 26	· Ite	120/240 volts, snap-in ems 26 through 37 - Square 30 AMP, 2 pole, 120/240 volts, snap-in 20 AMP, 1 pole, 120	D (Circuit Br	eakers. Each.
Group Item Item	IV – 26 27	- Ite	120/240 volts, snap-in ems 26 through 37 – Square 30 AMP, 2 pole, 120/240 volts, snap-in 20 AMP, 1 pole, 120 volts, snap-in	D (0)	Circuit Br \$16.55 \$7.18	eakers. Each. Each.
Group Item	IV – 26 27	- Ite	120/240 volts, snap-in ems 26 through 37 - Square 30 AMP, 2 pole, 120/240 volts, snap-in 20 AMP, 1 pole, 120 volts, snap-in 40 AMP, 2 pole,	D (0)	Circuit Br \$16.55	eakers. Each. Each.
Group Item Item Item	IV - 26 27 28	- - -	120/240 volts, snap-in ems 26 through 37 - Square 30 AMP, 2 pole, 120/240 volts, snap-in 20 AMP, 1 pole, 120 volts, snap-in 40 AMP, 2 pole, 120/240 volts, snap-in	D (0) (0) (0) (0) (0) (0) (0) (0) (0) (0)	Circuit Br \$16.55 \$7.18 \$16.55	eakers. Each. Each. Each.
Group Item Item	IV - 26 27 28	- - -	120/240 volts, snap-in 2ms 26 through 37 - Square 30 AMP, 2 pole, 120/240 volts, snap-in 20 AMP, 1 pole, 120 volts, snap-in 40 AMP, 2 pole, 120/240 volts, snap-in 40 AMP, 2 pole, 120/240 volts, snap-in 40 AMP, 2 pole,	D (0) (0) (0) (0) (0) (0) (0) (0) (0) (0)	Circuit Br \$16.55 \$7.18	eakers. Each. Each. Each.
Group Item Item Item Item	26 27 28 29	- - -	120/240 volts, snap-in ems 26 through 37 - Square 30 AMP, 2 pole, 120/240 volts, snap-in 20 AMP, 1 pole, 120 volts, snap-in 40 AMP, 2 pole, 120/240 volts, snap-in 40 AMP, 2 pole, 120/240 volts, snap-in 40 AMP, 2 pole, 120/240 volts, bolt on	D 0 0 0 0 0	\$16.55 \$7.18 \$16.55 \$23.05	Each. Each. Each. Each.
Group Item Item Item	26 27 28 29	- - -	120/240 volts, snap-in 2 Square 30 AMP, 2 pole, 120/240 volts, snap-in 20 AMP, 1 pole, 120 volts, snap-in 40 AMP, 2 pole, 120/240 volts, snap-in 40 AMP, 2 pole, 120/240 volts, snap-in 40 AMP, 2 pole, 120/240 volts, bolt on 20 AMP, 1 pole, 120	D 0 0 0 0 0	Circuit Br \$16.55 \$7.18 \$16.55	Each. Each. Each. Each.
Group Item Item Item Item Item	26 27 28 29 30	- - -	120/240 volts, snap-in 2 sems 26 through 37 – Square 30 AMP, 2 pole, 120/240 volts, snap-in 20 AMP, 1 pole, 120 volts, snap-in 40 AMP, 2 pole, 120/240 volts, snap-in 40 AMP, 2 pole, 120/240 volts, bolt on 20 AMP, 1 pole, 120 volts, bolt on		\$16.55 \$7.18 \$16.55 \$23.05 \$10.35	eakers. Each. Each. Each. Each.
Group Item Item Item Item	26 27 28 29 30	- - -	120/240 volts, snap-in 2ms 26 through 37 – Square 30 AMP, 2 pole, 120/240 volts, snap-in 20 AMP, 1 pole, 120 volts, snap-in 40 AMP, 2 pole, 120/240 volts, snap-in 40 AMP, 2 pole, 120/240 volts, snap-in 40 AMP, 1 pole, 120/240 volts, bolt on 20 AMP, 1 pole, 120 volts, bolt on 30 AMP, 1 pole, 120		\$16.55 \$7.18 \$16.55 \$23.05	eakers. Each. Each. Each. Each.
Group Item Item Item Item Item	26 27 28 29 30 31	- - -	120/240 volts, snap-in 2 Square 30 AMP, 2 pole, 120/240 volts, snap-in 20 AMP, 1 pole, 120 volts, snap-in 40 AMP, 2 pole, 120/240 volts, snap-in 40 AMP, 2 pole, 120/240 volts, snap-in 40 AMP, 2 pole, 120/240 volts, bolt on 20 AMP, 1 pole, 120 volts, bolt on 30 AMP, 1 pole, 120 volts, bolt on		\$16.55 \$7.18 \$16.55 \$23.05 \$10.35 \$10.35	eakers. Each. Each. Each. Each. Each.
Group Item Item Item Item Item	26 27 28 29 30	- - -	120/240 volts, snap-in 2 Square 30 AMP, 2 pole, 120/240 volts, snap-in 20 AMP, 1 pole, 120 volts, snap-in 40 AMP, 2 pole, 120/240 volts, snap-in 40 AMP, 2 pole, 120/240 volts, snap-in 40 AMP, 2 pole, 120/240 volts, bolt on 20 AMP, 1 pole, 120 volts, bolt on 30 AMP, 1 pole, 120 volts, bolt on 20 AMP, 2 pole,		\$16.55 \$7.18 \$16.55 \$23.05 \$10.35	eakers. Each. Each. Each. Each. Each.
Group Item Item Item Item Item Item Item	26 27 28 29 30 31 32	- - - -	120/240 volts, snap-in 2 Square 30 AMP, 2 pole, 120/240 volts, snap-in 20 AMP, 1 pole, 120 volts, snap-in 40 AMP, 2 pole, 120/240 volts, snap-in 40 AMP, 2 pole, 120/240 volts, bolt on 20 AMP, 1 pole, 120 volts, bolt on 30 AMP, 1 pole, 120 volts, bolt on 30 AMP, 2 pole, 120/240 volts, bolt on 20 AMP, 2 pole, 120/240 volts, bolt on		\$16.55 \$7.18 \$16.55 \$23.05 \$10.35 \$10.35 \$23.05	eakers. Each. Each. Each. Each. Each. Each.
Group Item Item Item Item Item	26 27 28 29 30 31	- - - -	120/240 volts, snap-in 2 Square 30 AMP, 2 pole, 120/240 volts, snap-in 20 AMP, 1 pole, 120 volts, snap-in 40 AMP, 2 pole, 120/240 volts, snap-in 40 AMP, 2 pole, 120/240 volts, snap-in 40 AMP, 2 pole, 120/240 volts, bolt on 20 AMP, 1 pole, 120 volts, bolt on 30 AMP, 1 pole, 120 volts, bolt on 20 AMP, 2 pole, 120/240 volts, bolt on 30 AMP, 2 pole, 120/240 volts, bolt on 30 AMP, 2 pole,		\$16.55 \$7.18 \$16.55 \$23.05 \$10.35 \$10.35	eakers. Each. Each. Each. Each. Each. Each.
Group Item Item Item Item Item Item Item Item	26 27 28 29 30 31 32 33	- Itc	120/240 volts, snap-in 2ms 26 through 37 – Square 30 AMP, 2 pole, 120/240 volts, snap-in 20 AMP, 1 pole, 120 volts, snap-in 40 AMP, 2 pole, 120/240 volts, snap-in 40 AMP, 2 pole, 120/240 volts, bolt on 20 AMP, 1 pole, 120 volts, bolt on 30 AMP, 1 pole, 120 volts, bolt on 20 AMP, 2 pole, 120/240 volts, bolt on 30 AMP, 2 pole, 120/240 volts, bolt on 30 AMP, 2 pole, 120/240 volts, bolt on 30 AMP, 2 pole, 120/240 volts, bolt on		\$16.55 \$7.18 \$16.55 \$23.05 \$10.35 \$10.35 \$23.05 \$23.05	eakers. Each. Each. Each. Each. Each. Each. Each.
Group Item Item Item Item Item Item Item	26 27 28 29 30 31 32 33	- Itc	120/240 volts, snap-in 2 Square 30 AMP, 2 pole, 120/240 volts, snap-in 20 AMP, 1 pole, 120 volts, snap-in 40 AMP, 2 pole, 120/240 volts, snap-in 40 AMP, 2 pole, 120/240 volts, snap-in 40 AMP, 2 pole, 120/240 volts, bolt on 20 AMP, 1 pole, 120 volts, bolt on 30 AMP, 1 pole, 120 volts, bolt on 20 AMP, 2 pole, 120/240 volts, bolt on 30 AMP, 2 pole, 120/240 volts, bolt on 30 AMP, 2 pole,		\$16.55 \$7.18 \$16.55 \$23.05 \$10.35 \$10.35 \$23.05	eakers. Each. Each. Each. Each. Each. Each. Each.

Page 5 of 6

 Item
 35
 60 AMP, 2 pole, 120/240 volts, bolt on
 @ \$23.05 Each.

 Item
 36
 70 AMP, 2 pole, 120/240 volts, bolt on
 @ \$44 Each.

 Item
 37
 100 AMP, 2 pole, bolt on 100 solt on 10

SECONDARY

4. WESCO DISTRIBUTION, INC. 2661 WEST MCNAB ROAD POMPANO BEACH, FLORIDA 33069 OWNER: ROY HALEY, PRESIDENT

Second Total Low Unit Price: Group III.

Group III – Items 18 through 25 – Westinghouse Circuit Breakers.

İtem	18 -	20 AMP, 1 pole, 120/240 volts, snap-in	@	\$11.25	Each.
Item	19 -	20 AMP, 1 pole, 120/240 volts, bolt on	@	\$11.25	Each.
Item	20 -	20 AMP, 2 pole, 120/240 volts, bolt on	@	\$24.75	Each.
Item	21 -	30 AMP, 2 pole, 120/240 volts, bolt on	@	\$24.75	Each.
Item	22 -	40 AMP, 2 pole, 120/240 volts, snap-in	@	\$24.75	Each.
Item	23 -	40 AMP, 2 pole,	@	\$24.75	Each.
Item	24 -	120/240 volts, bolt on 50 AMP, 2 pole,	@	\$24.75	Each.
Item	25	120/240 volts, bolt on 60 AMP, 2 pole, 120/240 volts, bolt on	@	\$24.75	Each.

6. Authorize the Bureau of Procurement and Materials Management to purchase up to the total estimated amount of \$31,588.97. The award shall be made subject to the resolution of bid protests, if any.